Math 2 Name

Graphing Quadratics Date Per

Graph each quadratic. Make sure to |abel all key components.

L f()=(x-3)(x+5)
Maximum or Minimum =it
Vertex y - intercept
A0S Domain :
X — intercepts ﬁg’] 6'5.]‘7) Range
3 i 5) Intervals of Increasing
2 Intervals of Decreasing
:

2, fx)=x>+4x-5

Maximum or Minimum

Vertex y = intercept
AOS Domain
X = intercepts Range

Intervals of Increasing

Intervals of Decreasing




3. f(x)=~-(x+2)*+3

Maximum or Minimum
Vertex

AOS

% = intercepts

4. f(x)=-2(x-2)(x—2)

Maximum or Minimum
Vertex

AOS

X — intercepts

y — intercept
Domain

Range

Intervals of Increasing

Intervals of Decreasing

y — intercept
Domain

Range

Intervals of Increasing

intervals of Decreasing




Math 2 Name

Graphing Quadratics Date

Graph each quadratic. Make sure to label all key components.

5. f(x)=-32+6x—4

Maximum or Minimum

Per

Vertex y = intercept R
AOS Domain ]
x = intercepts Range

Intervals of Increasing

Intervals of Decreasing

6. f(x)=(2x+1)(2x—3)

Maximum-lo
vertex (3, ¥l ¥ = intercept co,-};;

AD! Domain {mg}

5_X= %
x-inter:epts(-a.ohl}l.lo) Range _[-9,80)

e

Intervads of Increasing

= - = 7 m) N
g"“'l o Ax-3=0 Interval%dfnecreaslns N e
=D 1
Ax= - ax iy (-2, .‘,)
.-l =3
A
1,2 |
= 4
-~ —
2 =73

GaNE) N

>




s

f(x) =2(x=1)*=5

Maximum or Migimum
vertex (| ) i
AQOS

X —intercepts

flx) = x*+6x+9

Maximum or Minimum
Vertex
AQS

X — intercepts

y = intercept
Domain

Range

Intervals of Increasing

Intervals of Decreasing

y — intercept
Domain

Range

Intervals of Increasing

Intervals of Decreasing




Math 2

Graphing Quadratics

Graph each quadratic. Make sure to label all key components.

9. f(xX)==2(x-2)(x+4)

(Maximumder Minimum

vertex (=1, | B
AOS __ X=-)
x ~ intercepts /2,0 (-4 o)
Y-2z0 X+rY4=0
Yz X=-Y

2+(H)
==~

a(-1)(-1r4)
-2(-3) (3): /3
10. f(x) = x2 -9
xt+ox-§

Vertex (& ,~H)
ADS__X=o
x — intercepts { = z,ﬂ ) L'}, ﬂ\

O=x -1
(x+3)x>) =0
Y4320 X5=D
X= "> X=5

y = intercept _{ 0,“-’

Domain_{ -2 o=}
Range ﬁgz, 18 l

Intervals of Increasing
{ == ".j

Name

Date

—

£3

Per

Intervals of Decreasing ('1)”"

-..Q‘(a -2)(0“0
-2("2’)("0 ={b

y — intercept (05"1 !
N -

Domain

Range =

Intervals of Increasing
[0 o0

Intervals of Decreasing

(—m)o)

N & g S
X .---""T

—

e R e N A i T




1. f(x) = ;(x—4)* -8

Maximum or Minimum
Vertex

AOS

% = intercepts

12. f(x) = ;(x +4)*

Maximum or Minimum
Vertex
AOS

x— intercepts

y = intercept

Domain

Range

Intervals of Increasing

Intervals of Decreasing

y — intercept
Domain

Range

intervals of Increasing

Intervals of Decreasing




